

$$1x + b \neq 0 \quad c \neq 0$$

$$x + \frac{b}{a} \quad a = \frac{-b}{a}$$

$$a, b, c \in \mathbb{R}, c \neq 0$$

6

$$\frac{y}{f+y} = \{(x, 1), (-1, 4), (5, 7)\} \Rightarrow R_{\frac{y}{f+y}} = \{1, 4, 7\}$$

7

$$d = a = -1$$

$$c = a - 2b \Rightarrow c = d$$

$$2a - 2b = 1$$

$$-2 - 2b = 1 \Rightarrow 2b = -3 \Rightarrow b = -\frac{3}{2}$$

$$c + d = d - 1 = 2$$

8

$$-x^r + x - m > 0 \Rightarrow x^r - x + m < 0 \quad \Delta = 1 - 4m$$

$$\Delta = 0 \Rightarrow m = \frac{1}{4}$$

$$x^r - x + \frac{1}{4} = (x - \frac{1}{2})^2 = 0 \Rightarrow x = \frac{1}{2}$$

$$a = \frac{1}{2} \quad f\left(\frac{1}{2}\right) = 0 \Rightarrow a + b = \frac{1}{2} + 0 = \frac{1}{2}$$

9

$$\frac{yx + a}{x^r + 4x + b} = \frac{y}{x - c} \Rightarrow (yx + a)(x - c) = yx^r + ax - ac - yxc = yx^r + x(a - yc) - ac$$

$$yx^r + 4x + b = (x - c)^r \Rightarrow x^r + 4x + b = x^r - yc x + c^r \Rightarrow 4x - 9 = -yc$$

$$a = 9$$

$$b = 9$$

$$c = -3$$

$$\Rightarrow a + b + c = 15$$

10